10km (FEX0 ., NEBfr - By - K4 - FiEk)

— B F (4 9ELLT) 9 |35 IS 50:11
1 ]2 PERRE 38 7y 28 b 10 | 34 A HEA 51:54
2 |13 PR L=E— 39:56 11 | 32 DU 52:35
316 fif] A7 47 :41 12 | 38 fEH 53:31
4 HIEX 48:31 13 |29 FEARFIFD 53:49
5 |7 F EARERHR 52:06 14 | 33 el R’ 55:26
6 |11 ZREE 52:44 15 | 23 7 HHERR 57 :21
713 FRA ] 52:50 16 | 21 F A 60:04
8 |1 KAl 53:14 17 | 40 TR IETE 60:46
9 | 8 i FH I 55:17 18 | 30 JER HH IE I 66 :54

ST (5 0Ll k) — %t (4 9RRLLT)
1 |28 AR 41:40 1 |51 MHBLMF 48:37
2 |37 AN YN 43:44 2 |52 FEIR LS 51:08
3 |26 B EA 45:55
4 139 2% FLIR 48:05
5 |24 EEhcies 48:16 AR (5 0mkBA 1)
6 |22 Frla A 49:23 42 AL~ 51:32
7 |36 o FH R 49 :41 2 |43 EAINIEZ=S 62:33
8 |25 g FH R 49:51 3 |41 [ZRESS 64:02
3 km

B -

1 |62 P R~ 13:5 1|71 === 17:41
2 |61 ANIE(E 14 : 2 |72 BRI 18:06
3 |63 FHLHEA 17:26




